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English Language

1. General English

Duration 1 hour 10 mins

Coverage Textbook (Units 3-4)
Grammar Book (Units 3-4)

Question Types Part 1 : Reading
Text 1& Text 2
Various Question types

Part 2 : Usage
Vocabulary 1

Vocabulary 2
Present perfect tense
Conditional sentences about facts (type 0)

Adverb of sequence

YV V.V V V V

Using the simple present tense to talk about timetables and
schedules

Total: 100 marks

Part 3: Challenging Part

Proof-reading (10 marks)
Total: 110 marks

2. Writing

Duration 1 hour 10 minutes
Topic(s) A variety of topics
Question Types Task 1: Picture writing

Task 2: Presentation
Total: 100 marks
Remarks Write on every line.
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